[ Efficiency vs vertpos |

~0.02

10

1

10 0?
TP vertr (cr%)

Efficiend

—— DQM_V0001_R000000001__Global
—— DQM_V0001_R000000001__Global__|
—— DQM_V0001_R000000001__Global__|

~ 0.02p
018
016
014
012F
0.01F
0.008F
0.006F
0.004
0.002
e

e_E;cmacy_dgs \_@rt

................

..............

...............

Ratio
N
T

0.95!

[ Efficiency vs. sim

PV

10 20 30
TP vert z (cm)

~ 0.05
>
80.045
=
=0.04
%.035
ey
20.03
@
8.025
(]

0.02
0.015

0.01E U ISR S O
= e +++++rar :
0.005F -+ 5-*%++ a5 o S NI
P S I P 1 P I U TP | O
9 J..\.U_ T . 5 E * +
I I : : ! :
x . :
]__— ------- L IERE IF o D 2E 2 , I
0.9 i L BTG LR L
=20 -15 -10 5 10 15 20

-5

Sim. PV z (cm)

mkFit_baseline
mkFit_jcore50maxCand-24DUPremoval-1000
mkFit_jcorelOmaxCand-24DUPremoval-1000




	Contents
	Page 1


